

Meadow Lake Presort - February 25, 2026.

Wednesday, February 25, 2026 -- 12:00 PM

Pre-Sort

This is a live broadcast of a pre-sort sale out of Meadow Lake, SK. For more information call Jeannie at (780) 554-4939

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	2-18	7	STRS	BLK	451	3158	BLACK
2	2	2-20	8	STRS	BLK	528	4221	BLAC
3	3	FP16	25	STRS	BLK	572	14310	BLAC
4	4	NFP1	27	STRS	BLK	604	16306	BLAC
5	5	FP11	40	STRS	OP11	646	25829	BAR
6	6	NFP2	40	STRS	BLK	672	26869	BLAC
7	7	2-21	27	STRS	BLK	738	19937	BLAC
8	8	FP5	23	STRS	OP7	761	17494	LITT
9	9	3-5	9	STRS	BLK	813	7321	BLAC
10	10	2-10	18	STRS	BLKX	594	10700	BLAC
11	11	FP8	45	STRS	BLKX	658	29590	BLAC
12	12	FP2	19	STRS	OP3	702	13335	KATZ
13	13	K-5	2	STRS	EXOT	324	649	EXOT
14	14	2-2	4	STRS	EXOT	402	1607	EXOT
15	15	2-15	18	STRS	EXOT	542	9765	EXOT
16	16	2-6	12	STRS	EXOT	604	7253	EXOT
17	17	2-12	21	STRS	EXOT	688	14455	EXOT
18	18	2-8	22	STRS	EXOT	748	16455	EXOT
19	19	2-14	23	STRS	EXOT	805	18523	EXOT
20	20	3-16	3	STRS	EXOT	908	2723	EXOT
21	21	3-6	6	STRS	EXOT	1053	6319	EXOT
22	22	3-3	3	STRS	TAN	699	2098	TAN
23	23	3-1	2	STRS	TAN	772	1545	TAN
24	24	3-2	2	STRS	CHAR	735	1470	CHAR
25	25	2-1	1	STRS	WHT	655	655	WHIT
26	26	3-4	2	STRS	SIMM	612	1225	SIMM
27	27	3-12	5	STRS	SIMM	706	3529	SIMM
28	28	2-9	3	STRS	BRIT	463	1390	BRIT
29	29	2-13	3	STRS	BRIT	516	1547	BRIT
30	30	2-19	4	STRS	BRIT	579	2316	BRIT
31	31	2-4	2	STRS	BRIT	582	1165	BRIT
32	32	3-15	3	STRS	BRIT	657	1970	BRIT
33	33	3-13	5	STRS	BRIT	748	3740	BRIT
34	34	3-10	2	STRS	SPEK	618	1235	SPEC

35	35	5-3	1	STRS	SMOK	562	562	SMOK
36	36	5-5	1	STRS	SMOK	670	670	SMOK
37	37	5-7	3	STRS	WEST	376	1128	WEST
38	38	5-2	2	STRS	WEST	435	870	WEST
39	39	5-4	2	STRS	WEST	559	1118	WEST
40	40	3-11	2	STRS	WEST	782	1564	WEST
41	41	A-28	6	STRS	BB	382	2295	EXOT
42	42	A-26	5	STRS	BB	484	2421	EXOT
43	43	A26A	7	STRS	BB	547	3831	EXOT
44	44	A-21	17	STRS	BB	629	10693	EXOT
45	45	3-20	4	STRS	BB	677	2708	EXOT
46	46	3-18	6	STRS	BB	778	4667	EXOT
47	47	3-14	2	STRS	BB	866	1733	EXOT
48	48	BU-1	29	HFRS	REDX	563	16315	RED
49	49	NF2A	42	HFRS	REDX	617	25905	RED
50	50	FP2A	29	HFRS	OP8	665	19276	FILL
51	51	FP15	30	HFRS	REDX	701	21020	RED
52	52	FP3	43	HFRS	OP6	742	31914	LANG
53	53	4-11	13	HFRS	REDX	753	9787	REDX
54	54	FP1A	25	HFRS	OP2	803	20070	STRE
55	55	X13A	2	HFRS	REDX	849	1698	RED
56	56	A-24	10	HFRS	EXOT	342	3424	EXOT
57	57	A24A	13	HFRS	EXOT	404	5249	EXOT
58	58	A-19	34	HFRS	EXOT	449	15261	EXOT
59	59	A-17	29	HFRS	EXOT	511	14817	EXOT
60	60	A-22	28	HFRS	EXOT	560	15675	EXOT
61	61	A-15	29	HFRS	EXOT	602	17446	EXOT
62	62	FP6	36	HFRS	OP5	651	23420	ECKE
63	63	FP14	31	HFRS	EXOT	658	20386	EXOT
64	64	A20A	19	HFRS	EXOT	740	14059	EXOT
65	65	4-13	14	HFRS	EXOT	810	11343	EXOT
66	66	4-23	1	HFRS	EXOT	922	922	EXOT
67	67	X11A	8	HFRS	TAN	501	4010	TAN
68	68	4-19	8	HFRS	TAN	560	4477	TAN
69	69	A-13	21	HFRS	TAN	612	12855	TAN
70	70	X-15	22	HFRS	TAN	687	15118	TAN
71	71	A13A	7	HFRS	BLK	454	3180	BLAC
72	72	FP10	30	HFRS	BLK	508	15230	BLAC
73	73	FP13	36	HFRS	BLK	557	20038	BLAC
74	74	FP9	61	HFRS	OP9	585	35697	LANT
75	75	FP7	63	HFRS	BLK	605	38140	BLAC
76	76	FP1	26	HFRS	OP1	650	16900	WHIT
77	77	FP12	50	HFRS	OP10	665	33245	LANT
78	78	FP4	62	HFRS	BLK	673	41734	BLAC

79	79	FP5A	19	HFRS	OP4	681	12930	DRIE
80	80	A-18	17	HFRS	BLK	723	12294	BLAC
81	81	X-11	1	HFRS	BLK	825	825	BLAC
82	82	4-5	5	HFRS	SIMM	534	2671	SIMM
83	83	X17A	10	HFRS	SIMM	596	5965	SIMM
84	84	4-9	13	HFRS	SIMM	650	8447	SIMM
85	85	X-19	5	HFRS	SIMM	736	3680	SIMM
86	86	X21A	6	HFRS	SIMM	789	4733	SIMM
87	87	A18A	4	HFRS	BRIT	447	1788	BRIT
88	88	A-16	10	HFRS	BRIT	515	5150	BRIT
89	89	4-18	1	HFRS	SPEK	630	630	SPEC
90	90	A16A	1	HFRS	SMOK	481	481	SMOK
91	91	X-17	5	HFRS	SMOK	631	3154	SMOK
92	92	X-23	5	HFRS	SMOK	720	3598	SMOK
93	93	X19A	4	HFRS	RWF	521	2083	RWF
94	94	4-4	2	HFRS	NORT	415	830	NORT
95	95	4-8	2	HFRS	NORT	515	1030	NORT
96	96	4-12	5	HFRS	NORT	644	3222	NORT
97	97	4-16	4	HFRS	NORT	754	3018	NORT
98	98	4-10	1	HFRS	WEST	346	346	WEST
99	99	4-14	1	HFRS	NORT	850	850	NORT
100	100	4-2	5	HFRS	WEST	421	2104	WEST
101	101	4-6	4	HFRS	WEST	560	2241	WEST

Total Head: 1475

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	2-18	Consignor:	BLACK
Head:	7	Average Weight:	451
Color:		Total Weight:	3158
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	2	Lot #:	2
Pen #:	2-20	Consignor:	BLAC
Head:	8	Average Weight:	528
Color:		Total Weight:	4221
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	3	Lot #:	3
Pen #:	FP16	Consignor:	BLAC
Head:	25	Average Weight:	572
Color:		Total Weight:	14310
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	4	Lot #:	4
Pen #:	NFP1	Consignor:	BLAC
Head:	27	Average Weight:	604
Color:		Total Weight:	16306
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	5	Lot #:	5
Pen #:	FP11	Consignor:	BAR
Head:	40	Average Weight:	646
Color:		Total Weight:	25829
Sex:	STRS	Breed:	OP11

Lot Detail Information

Sequence #:	6	Lot #:	6
Pen #:	NFP2	Consignor:	BLAC
Head:	40	Average Weight:	672
Color:		Total Weight:	26869
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	7	Lot #:	7
Pen #:	2-21	Consignor:	BLAC
Head:	27	Average Weight:	738
Color:		Total Weight:	19937
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	8	Lot #:	8
-------------	----------	--------	----------

Pen #:	FP5	Consignor:	LITT
Head:	23	Average Weight:	761
Color:		Total Weight:	17494
Sex:	STRS	Breed:	OP7

Lot Detail Information

Sequence #:	9	Lot #:	9
Pen #:	3-5	Consignor:	BLAC
Head:	9	Average Weight:	813
Color:		Total Weight:	7321
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	10	Lot #:	10
Pen #:	2-10	Consignor:	BLAC
Head:	18	Average Weight:	594
Color:		Total Weight:	10700
Sex:	STRS	Breed:	BLKX

Lot Detail Information

Sequence #:	11	Lot #:	11
Pen #:	FP8	Consignor:	BLAC
Head:	45	Average Weight:	658
Color:		Total Weight:	29590
Sex:	STRS	Breed:	BLKX

Lot Detail Information

Sequence #:	12	Lot #:	12
Pen #:	FP2	Consignor:	KATZ
Head:	19	Average Weight:	702
Color:		Total Weight:	13335
Sex:	STRS	Breed:	OP3

Lot Detail Information

Sequence #:	13	Lot #:	13
Pen #:	K-5	Consignor:	EXOT
Head:	2	Average Weight:	324
Color:		Total Weight:	649
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	14	Lot #:	14
Pen #:	2-2	Consignor:	EXOT
Head:	4	Average Weight:	402
Color:		Total Weight:	1607
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	15	Lot #:	15
Pen #:	2-15	Consignor:	EXOT
Head:	18	Average Weight:	542
Color:		Total Weight:	9765

Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **16** Lot #: **16**
Pen #: **2-6** Consignor: **EXOT**
Head: **12** Average Weight: **604**
Color: Total Weight: **7253**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **17** Lot #: **17**
Pen #: **2-12** Consignor: **EXOT**
Head: **21** Average Weight: **688**
Color: Total Weight: **14455**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **18** Lot #: **18**
Pen #: **2-8** Consignor: **EXOT**
Head: **22** Average Weight: **748**
Color: Total Weight: **16455**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **19** Lot #: **19**
Pen #: **2-14** Consignor: **EXOT**
Head: **23** Average Weight: **805**
Color: Total Weight: **18523**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **20** Lot #: **20**
Pen #: **3-16** Consignor: **EXOT**
Head: **3** Average Weight: **908**
Color: Total Weight: **2723**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **21** Lot #: **21**
Pen #: **3-6** Consignor: **EXOT**
Head: **6** Average Weight: **1053**
Color: Total Weight: **6319**
Sex: **STRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **22** Lot #: **22**
Pen #: **3-3** Consignor: **TAN**
Head: **3** Average Weight: **699**
Color: Total Weight: **2098**
Sex: **STRS** Breed: **TAN**

Lot Detail Information

Sequence #:	23	Lot #:	23
Pen #:	3-1	Consignor:	TAN
Head:	2	Average Weight:	772
Color:		Total Weight:	1545
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	24	Lot #:	24
Pen #:	3-2	Consignor:	CHAR
Head:	2	Average Weight:	735
Color:		Total Weight:	1470
Sex:	STRS	Breed:	CHAR

Lot Detail Information

Sequence #:	25	Lot #:	25
Pen #:	2-1	Consignor:	WHIT
Head:	1	Average Weight:	655
Color:		Total Weight:	655
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	26	Lot #:	26
Pen #:	3-4	Consignor:	SIMM
Head:	2	Average Weight:	612
Color:		Total Weight:	1225
Sex:	STRS	Breed:	SIMM

Lot Detail Information

Sequence #:	27	Lot #:	27
Pen #:	3-12	Consignor:	SIMM
Head:	5	Average Weight:	706
Color:		Total Weight:	3529
Sex:	STRS	Breed:	SIMM

Lot Detail Information

Sequence #:	28	Lot #:	28
Pen #:	2-9	Consignor:	BRIT
Head:	3	Average Weight:	463
Color:		Total Weight:	1390
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	29	Lot #:	29
Pen #:	2-13	Consignor:	BRIT
Head:	3	Average Weight:	516
Color:		Total Weight:	1547
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	30	Lot #:	30
Pen #:	2-19	Consignor:	BRIT
Head:	4	Average Weight:	579

Color:		Total Weight:	2316
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	31	Lot #:	31
Pen #:	2-4	Consignor:	BRIT
Head:	2	Average Weight:	582
Color:		Total Weight:	1165
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	32	Lot #:	32
Pen #:	3-15	Consignor:	BRIT
Head:	3	Average Weight:	657
Color:		Total Weight:	1970
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	33	Lot #:	33
Pen #:	3-13	Consignor:	BRIT
Head:	5	Average Weight:	748
Color:		Total Weight:	3740
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	34	Lot #:	34
Pen #:	3-10	Consignor:	SPEC
Head:	2	Average Weight:	618
Color:		Total Weight:	1235
Sex:	STRS	Breed:	SPEK

Lot Detail Information

Sequence #:	35	Lot #:	35
Pen #:	5-3	Consignor:	SMOK
Head:	1	Average Weight:	562
Color:		Total Weight:	562
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	36	Lot #:	36
Pen #:	5-5	Consignor:	SMOK
Head:	1	Average Weight:	670
Color:		Total Weight:	670
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	37	Lot #:	37
Pen #:	5-7	Consignor:	WEST
Head:	3	Average Weight:	376
Color:		Total Weight:	1128
Sex:	STRS	Breed:	WEST

Lot Detail Information

Sequence #:	38	Lot #:	38
Pen #:	5-2	Consignor:	WEST
Head:	2	Average Weight:	435
Color:		Total Weight:	870
Sex:	STRS	Breed:	WEST

Lot Detail Information

Sequence #:	39	Lot #:	39
Pen #:	5-4	Consignor:	WEST
Head:	2	Average Weight:	559
Color:		Total Weight:	1118
Sex:	STRS	Breed:	WEST

Lot Detail Information

Sequence #:	40	Lot #:	40
Pen #:	3-11	Consignor:	WEST
Head:	2	Average Weight:	782
Color:		Total Weight:	1564
Sex:	STRS	Breed:	WEST

Lot Detail Information

Sequence #:	41	Lot #:	41
Pen #:	A-28	Consignor:	EXOT
Head:	6	Average Weight:	382
Color:		Total Weight:	2295
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	42	Lot #:	42
Pen #:	A-26	Consignor:	EXOT
Head:	5	Average Weight:	484
Color:		Total Weight:	2421
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	43	Lot #:	43
Pen #:	A26A	Consignor:	EXOT
Head:	7	Average Weight:	547
Color:		Total Weight:	3831
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	44	Lot #:	44
Pen #:	A-21	Consignor:	EXOT
Head:	17	Average Weight:	629
Color:		Total Weight:	10693
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	45	Lot #:	45
-------------	-----------	--------	-----------

Pen #:	3-20	Consignor:	EXOT
Head:	4	Average Weight:	677
Color:		Total Weight:	2708
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	46	Lot #:	46
Pen #:	3-18	Consignor:	EXOT
Head:	6	Average Weight:	778
Color:		Total Weight:	4667
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	47	Lot #:	47
Pen #:	3-14	Consignor:	EXOT
Head:	2	Average Weight:	866
Color:		Total Weight:	1733
Sex:	STRS	Breed:	BB

Lot Detail Information

Sequence #:	48	Lot #:	48
Pen #:	BU-1	Consignor:	RED
Head:	29	Average Weight:	563
Color:		Total Weight:	16315
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	49	Lot #:	49
Pen #:	NF2A	Consignor:	RED
Head:	42	Average Weight:	617
Color:		Total Weight:	25905
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	50	Lot #:	50
Pen #:	FP2A	Consignor:	FILL
Head:	29	Average Weight:	665
Color:		Total Weight:	19276
Sex:	HFRS	Breed:	OP8

Lot Detail Information

Sequence #:	51	Lot #:	51
Pen #:	FP15	Consignor:	RED
Head:	30	Average Weight:	701
Color:		Total Weight:	21020
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	52	Lot #:	52
Pen #:	FP3	Consignor:	LANG
Head:	43	Average Weight:	742
Color:		Total Weight:	31914

Sex: **HFRS** Breed: **OP6**

Lot Detail Information

Sequence #: **53** Lot #: **53**
Pen #: **4-11** Consignor: **REDX**
Head: **13** Average Weight: **753**
Color: Total Weight: **9787**
Sex: **HFRS** Breed: **REDX**

Lot Detail Information

Sequence #: **54** Lot #: **54**
Pen #: **FP1A** Consignor: **STRE**
Head: **25** Average Weight: **803**
Color: Total Weight: **20070**
Sex: **HFRS** Breed: **OP2**

Lot Detail Information

Sequence #: **55** Lot #: **55**
Pen #: **X13A** Consignor: **RED**
Head: **2** Average Weight: **849**
Color: Total Weight: **1698**
Sex: **HFRS** Breed: **REDX**

Lot Detail Information

Sequence #: **56** Lot #: **56**
Pen #: **A-24** Consignor: **EXOT**
Head: **10** Average Weight: **342**
Color: Total Weight: **3424**
Sex: **HFRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **57** Lot #: **57**
Pen #: **A24A** Consignor: **EXOT**
Head: **13** Average Weight: **404**
Color: Total Weight: **5249**
Sex: **HFRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **58** Lot #: **58**
Pen #: **A-19** Consignor: **EXOT**
Head: **34** Average Weight: **449**
Color: Total Weight: **15261**
Sex: **HFRS** Breed: **EXOT**

Lot Detail Information

Sequence #: **59** Lot #: **59**
Pen #: **A-17** Consignor: **EXOT**
Head: **29** Average Weight: **511**
Color: Total Weight: **14817**
Sex: **HFRS** Breed: **EXOT**

Lot Detail Information

Sequence #:	60	Lot #:	60
Pen #:	A-22	Consignor:	EXOT
Head:	28	Average Weight:	560
Color:		Total Weight:	15675
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	61	Lot #:	61
Pen #:	A-15	Consignor:	EXOT
Head:	29	Average Weight:	602
Color:		Total Weight:	17446
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	62	Lot #:	62
Pen #:	FP6	Consignor:	ECKE
Head:	36	Average Weight:	651
Color:		Total Weight:	23420
Sex:	HFRS	Breed:	OP5

Lot Detail Information

Sequence #:	63	Lot #:	63
Pen #:	FP14	Consignor:	EXOT
Head:	31	Average Weight:	658
Color:		Total Weight:	20386
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	64	Lot #:	64
Pen #:	A20A	Consignor:	EXOT
Head:	19	Average Weight:	740
Color:		Total Weight:	14059
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	65	Lot #:	65
Pen #:	4-13	Consignor:	EXOT
Head:	14	Average Weight:	810
Color:		Total Weight:	11343
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	66	Lot #:	66
Pen #:	4-23	Consignor:	EXOT
Head:	1	Average Weight:	922
Color:		Total Weight:	922
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	67	Lot #:	67
Pen #:	X11A	Consignor:	TAN
Head:	8	Average Weight:	501

Color: Total Weight: **4010**
Sex: **HFRS** Breed: **TAN**

Lot Detail Information

Sequence #: **68** Lot #: **68**
Pen #: **4-19** Consignor: **TAN**
Head: **8** Average Weight: **560**
Color: Total Weight: **4477**
Sex: **HFRS** Breed: **TAN**

Lot Detail Information

Sequence #: **69** Lot #: **69**
Pen #: **A-13** Consignor: **TAN**
Head: **21** Average Weight: **612**
Color: Total Weight: **12855**
Sex: **HFRS** Breed: **TAN**

Lot Detail Information

Sequence #: **70** Lot #: **70**
Pen #: **X-15** Consignor: **TAN**
Head: **22** Average Weight: **687**
Color: Total Weight: **15118**
Sex: **HFRS** Breed: **TAN**

Lot Detail Information

Sequence #: **71** Lot #: **71**
Pen #: **A13A** Consignor: **BLAC**
Head: **7** Average Weight: **454**
Color: Total Weight: **3180**
Sex: **HFRS** Breed: **BLK**

Lot Detail Information

Sequence #: **72** Lot #: **72**
Pen #: **FP10** Consignor: **BLAC**
Head: **30** Average Weight: **508**
Color: Total Weight: **15230**
Sex: **HFRS** Breed: **BLK**

Lot Detail Information

Sequence #: **73** Lot #: **73**
Pen #: **FP13** Consignor: **BLAC**
Head: **36** Average Weight: **557**
Color: Total Weight: **20038**
Sex: **HFRS** Breed: **BLK**

Lot Detail Information

Sequence #: **74** Lot #: **74**
Pen #: **FP9** Consignor: **LANT**
Head: **61** Average Weight: **585**
Color: Total Weight: **35697**
Sex: **HFRS** Breed: **OP9**

Lot Detail Information

Sequence #:	75	Lot #:	75
Pen #:	FP7	Consignor:	BLAC
Head:	63	Average Weight:	605
Color:		Total Weight:	38140
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	76	Lot #:	76
Pen #:	FP1	Consignor:	WHIT
Head:	26	Average Weight:	650
Color:		Total Weight:	16900
Sex:	HFRS	Breed:	OP1

Lot Detail Information

Sequence #:	77	Lot #:	77
Pen #:	FP12	Consignor:	LANT
Head:	50	Average Weight:	665
Color:		Total Weight:	33245
Sex:	HFRS	Breed:	OP10

Lot Detail Information

Sequence #:	78	Lot #:	78
Pen #:	FP4	Consignor:	BLAC
Head:	62	Average Weight:	673
Color:		Total Weight:	41734
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	79	Lot #:	79
Pen #:	FP5A	Consignor:	DRIE
Head:	19	Average Weight:	681
Color:		Total Weight:	12930
Sex:	HFRS	Breed:	OP4

Lot Detail Information

Sequence #:	80	Lot #:	80
Pen #:	A-18	Consignor:	BLAC
Head:	17	Average Weight:	723
Color:		Total Weight:	12294
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	81	Lot #:	81
Pen #:	X-11	Consignor:	BLAC
Head:	1	Average Weight:	825
Color:		Total Weight:	825
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	82	Lot #:	82
-------------	-----------	--------	-----------

Pen #:	4-5	Consignor:	SIMM
Head:	5	Average Weight:	534
Color:		Total Weight:	2671
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	83	Lot #:	83
Pen #:	X17A	Consignor:	SIMM
Head:	10	Average Weight:	596
Color:		Total Weight:	5965
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	84	Lot #:	84
Pen #:	4-9	Consignor:	SIMM
Head:	13	Average Weight:	650
Color:		Total Weight:	8447
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	85	Lot #:	85
Pen #:	X-19	Consignor:	SIMM
Head:	5	Average Weight:	736
Color:		Total Weight:	3680
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	86	Lot #:	86
Pen #:	X21A	Consignor:	SIMM
Head:	6	Average Weight:	789
Color:		Total Weight:	4733
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	87	Lot #:	87
Pen #:	A18A	Consignor:	BRIT
Head:	4	Average Weight:	447
Color:		Total Weight:	1788
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	88	Lot #:	88
Pen #:	A-16	Consignor:	BRIT
Head:	10	Average Weight:	515
Color:		Total Weight:	5150
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	89	Lot #:	89
Pen #:	4-18	Consignor:	SPEC
Head:	1	Average Weight:	630
Color:		Total Weight:	630

Sex: **HFRS** Breed: **SPEK**

Lot Detail Information

Sequence #: **90** Lot #: **90**
Pen #: **A16A** Consignor: **SMOK**
Head: **1** Average Weight: **481**
Color: Total Weight: **481**
Sex: **HFRS** Breed: **SMOK**

Lot Detail Information

Sequence #: **91** Lot #: **91**
Pen #: **X-17** Consignor: **SMOK**
Head: **5** Average Weight: **631**
Color: Total Weight: **3154**
Sex: **HFRS** Breed: **SMOK**

Lot Detail Information

Sequence #: **92** Lot #: **92**
Pen #: **X-23** Consignor: **SMOK**
Head: **5** Average Weight: **720**
Color: Total Weight: **3598**
Sex: **HFRS** Breed: **SMOK**

Lot Detail Information

Sequence #: **93** Lot #: **93**
Pen #: **X19A** Consignor: **RWF**
Head: **4** Average Weight: **521**
Color: Total Weight: **2083**
Sex: **HFRS** Breed: **RWF**

Lot Detail Information

Sequence #: **94** Lot #: **94**
Pen #: **4-4** Consignor: **NORT**
Head: **2** Average Weight: **415**
Color: Total Weight: **830**
Sex: **HFRS** Breed: **NORT**

Lot Detail Information

Sequence #: **95** Lot #: **95**
Pen #: **4-8** Consignor: **NORT**
Head: **2** Average Weight: **515**
Color: Total Weight: **1030**
Sex: **HFRS** Breed: **NORT**

Lot Detail Information

Sequence #: **96** Lot #: **96**
Pen #: **4-12** Consignor: **NORT**
Head: **5** Average Weight: **644**
Color: Total Weight: **3222**
Sex: **HFRS** Breed: **NORT**

Lot Detail Information

Sequence #:	97	Lot #:	97
Pen #:	4-16	Consignor:	NORT
Head:	4	Average Weight:	754
Color:		Total Weight:	3018
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	98	Lot #:	98
Pen #:	4-10	Consignor:	WEST
Head:	1	Average Weight:	346
Color:		Total Weight:	346
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	99	Lot #:	99
Pen #:	4-14	Consignor:	NORT
Head:	1	Average Weight:	850
Color:		Total Weight:	850
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	100	Lot #:	100
Pen #:	4-2	Consignor:	WEST
Head:	5	Average Weight:	421
Color:		Total Weight:	2104
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	101	Lot #:	101
Pen #:	4-6	Consignor:	WEST
Head:	4	Average Weight:	560
Color:		Total Weight:	2241
Sex:	HFRS	Breed:	WEST